SECTION 1.5 SOLVING INEQUALITIES

1) Translate to an inequality. Use the variable x for next year's salary.
My salary next year will be at least 547,000.

Choose the corract inequality. )
At least is greater than or equal to

¥ 1. x=%47,000
x> $47.000
x < 547.000
EAT 000 2%

2) Solve the inequality. Check your solutions.

ot+2=12
-2 move 2 to the right and change the sign
5t <10 divide by 5
t<2

3) What are the solutions of 6x+ 13 > 3x - 27

- 3X -13
3x>-15 divide by 3
X>-5

4) Solve the inequality. Check your solutions.

DX +2=z22
-2 move 2 to the right and change the sign
5x 220 divide by 5
X224



5) Solve the inequality.

-12-4x =0
+ 12 move 12 to the right and change the sign
- 4x@12 divide by -4 ****change inequality direction when
x@ -3 dividing by a negative number

6) Solve the inequality.

3(x-8)+8x= -6 Distribute the 2
2x—16+8x>-6 combine like terms on left
10x—-162>-6 move -8 to the right and change the sign
+16
10x > 10 divide by 10
X2-5

7)Ecrlve the inequality.
-2(x+4)+2x<-17  (ijstribute the 2
-2x—8+5x < -17 combine like terms on left
3x—8< -17 move -8 to the right and change the sign
+8
3x<-9 divide by 3 X< -3

8) Solve for x.

4x-1)-5x= -1 distribute the 4
4x—4-5x 2 -1 combine like terms on left
-x—42-1 move -4 to the right and change the sign

+4
- x@ 3 ****change inequality direction when
x@—3 dividing by a -1



9) Soalve for x.

Graph the solution.
a1 — 11>
IX+2 = 2x-4 -5 64 -2 0 2 4 6 8
-2X -2
X<-6 <O open circle pointed left
10) Solve for x.
Graph the solution.
SK+1 = 4x -4 _—
-2 6 4 -2 0 2 4 6 8
-4x -1
X<-5 < O open circle pointed left
11) What are the solutions of 8x+ 5 = 6x - 57
- 6X -5
2x>-10 divide by 2
X>-5
12) Solve the inequality. Check your solutions.
Jx+2=8
-2
3x2 6 divide by 3
X2 2
13) Solve the inequality.
-15-5x=0
15
-5x<15 ****change inequality direction when
V/ dividing by a -5
X2 -3



14) Solve the inequality. Check your solution.

2= -10+3m Move the 3m to the left (you want variable on left)

-3m -2
-3m=2>-12 ****change inequality direction when
\ dividing by a -3
m< -3
15) solve the inequality.
3(X-6)+3xX= -6 distribute the 3
3x—18+3x > -6 combine like terms on left
6x—182>-6 move -18 to the right and change the sign
+18
6x = 12 divide by 6
X 2 -2

16) Solve the inequality.

—2(x+3)+3x <= -13 (istribute the - 2
-2X—6+9x < -13 combine like terms on left

7x—6<-13 move -18 to the right and change the sign
+6
7x < -7 divide by 6
X < -1

17) Solve the following inequality. Graph the solution.

4a-19>13 move -19 to the right and change the sign
+19
4x > 32 divide by 4

< HHHHHHHHHHHH O
a> 8 15129 6 -3 0 3 6 9 12 15




18) Solve the inequality. Graph the solution.

6(m-5)+5<29

6m—-30+5 < 29
6m —25< 29
+25

6m < 54
m<9

distribute the 6

combine like terms on left
move -25 to the right and change the sign

divide by 6
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19) Solve the following ineqguality. Graph the solution.

9a-41 =31
+41

9a >72
a>8

ZO) Solve the inequality. Graph the solution.
distribute the 4

Am-T)+4<12
dm-28+4 < 12

dm—-24<12
+24
dm < 36
m<9

move -41 to the right and change the sign

divide by 9
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combine like terms on left
move -24 to the right and change the sign

divide by 4
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